u—y

(< I I )

=N

=

i

No.

A fL #

B IR N 450

%

W T EZHRRERRELE

il

Bt ILRET A

H{H|H

Z2Hn A ni ERR27%28278 *T

BIER L=78. Om

THEEIRES W=4.3m.4. Tm.3. 7m

=

EHAEET L=33. 3m

HET A=109m

A # A H

6:,\

FRE264E12H15H FHr 10 B 20

2 K F #

—REF * i TAR—=K

T E fiffi A& (B k)

2,301,000 |5 K i BB fii #% (Fi k)

1,970,000

% AL &8 (B k)

1,970,000(%& 7 & %

2,127,600

% #L &

mMBT™H RFREHE5166—7

HASHBILTE

x & 4

A & # i

— ke

1,970,000

EHERAREH

1,980,000

BASHBILTE

1,970,000| <LIZ&kVYRE

FR=HARTIF

1,970,000

RHMEEKRASH

1,970,000

1/1




